—

89 Juvcuwghf Sevigs ) Cﬁkﬁl/\,w:wQ

\;DtH ‘h'w‘e W o le—a/rvw,o‘t
~
S = atrartar' + ... tar’
a(l-r“)
= [ w hew o N

| —

b
1 . k
\ L\e,w em ch(iw J(Lu, 92—\>M¢fho Cor ey hZ:° "

Thare
) e ;"‘L‘WH Couien ConVerges
. - <
l( N ””lj .F I (<1 note tHe
I-}wrhxg
B whee |rlel, the mf»‘w’wy index s O
. a this affects
Converger  F T oo £ovmule

P\/‘b'u-c N o{'(‘oo, l/im Qh = L;W\ a‘ ( I-r )
h=po | - r

W= ve

I
éb
s
d
§
|
S
T
=
5
Y

dooy ot ot whea [rlz 1.

A‘J\ hm S)L

n= oo



E"CQW\P‘M ( From Frl'cla.j s wmkawk )

—

f'ﬁ‘L‘bm ‘
— (5

—

(-%

I

© & (E) (D

TL,J: Is je,-ml,\:ru'p Sinece '”\a— ratio °1[

) L
flcceive e ms i Cam;‘“we = 3
Q g g 5 " s s
C .S, E - =0 - _ =,
4 y? ¥ ,rq, | ( ;)
TLJ; s N eemebric Since »”\a vetis °<[
' -
Ihccuv)t'\/c- "bvml g c»m;—{‘w\,e - = _';
I
1 4 R § Y,
© o F oyttt tet o -any
“”/3
W\/

. , 1
3e\~me,’w»c wuiL a=3, r=3

TL\L \NLOIQ, Qeries icn' 4 3eomohic} (owt [jvwrfg

J‘r\g{ (‘V‘f{ “Q,rhn} I" 35:



S (5) -
4{(7)}"‘ ‘_5/L
N/
S
gl/OMeA-rl(, witL q,=|} =2
(o]
2 3
3 3 3
I— T*(¢) “(7)(—-_
\/_V—
geometric L,f\‘L a_-_—.[/ v =
1

=

)" 3

<l o

I -

¥



- ?
3 DOM Z o Converge
nh=

Y‘SL'-LVN

Hit: Deoes bnse = ln (ata.ra,r a0

—_— n—sag W= oo

eaist 7 (Tlmv»k -wﬁ.«iwL/vclj)

() Qu=- L (a‘+cf.»+ .t an)

h—) e

h~> bo k/v—“

= bn ;/ P <
h=) %
2n3 tht? g
® An — ~ = when gets /wfjc

St en et 6

Lim (q,r G, ¢t - tan )

n— v
m//

wod t ot[ {lee terms
9
are joz‘}:\j fo  be ¥z

Do

= LIM —Q.; n = —/ O §.. C q. 0[4[,4/7_‘4
S n=

n—90



—“M,Mrz,m (h*k #,,,m,, '}M*’ ‘{w laij-ence>

w o

oo —
Co\nsi&u dL wvies Law‘ .L'F b @n#o
w=1

‘\’L\ﬂ,y\, _E aw A;\/wge/s.

E ."CL\N\?'Q _l:gw &agLv a,. ‘:p,luu

@ F,‘,WQ‘ LCW\ a,,l aon @ *Qcm UULM’L_U/

N/ ~o

)
_H,\,/ iVLl:QVLH‘e Ser e Z a-w CO“VW—M WJ"V:ﬂ hfL

ne term 4ol

Grien ZQW J"“"‘”j"o l’j (”L term 1[,/]‘7

We cannot mw/éa a CU’LC/WVOA, 140”1,



Qwa{q’oh I'F l;\m Q. = O ) OQQM fL@-} M eanr

n— oo

(%4
hat Lo eomverse 2 (This g

eq_ue_,oQ ’H»e CsnVveveld 0-( ftu, 'LL“VWM, OLLNVO, )

A,A;\Uu w%’“ fooun  Cee 'fLa/{s {L,, cmswer B hot nocmwl(y.

C 1 . . 7
Frawple Lt av=%  Whet ¥ ko oau

P

Do
Z__ C.. Lo arge OV wage °
D oes —



